FInQuiz.com

CFA Level | 5" Mock Exam
June, 2015
Revision 1

Copyright © 2010-2015. FinQuiz.com. All rights resed. Copying, reproduction
or redistribution of this material is strictly pribited. info@finquiz.com.



CFA Level | Mock Exam 5 — Solutions (PM)

FinQuiz.com — 8" Mock Exam 2015 (PM Session)

Questions  Topic Minutes
1-18 Ethical and Professional Standards 27
19-32 Quantitative Methods 21
33-44 Economics 18
45-68 Financial Reporting and Analysis 36
69-76 Corporate Finance 12
77-88 Equity Investments 18
89-94 Derivative Investments 9
95-106 Fixed Income Investments 18
107-112 Alternative Investments 9
113-120 Portfolio Management 12
Total 180

FinQuiz.com © 2015 - All rights reserved.



CFA Level | Mock Exam 5 — Solutions (PM)

Questions 1 through 18 relate to Ethical & Professinal Standards
1. Mosaic theory is defined as an analyst combimfaymation that is:

A. public and material public.
B. public and material nonpublic.
C. non-public and immaterial nonpublic.

Correct Answer: A

Reference:
CFA Leve |, Volume 1, Study Session 1, Reading 2, LOSa

The mosaic theory involves the analyst combiningliptand material public
information as the basis for investment recommeadstand decisions even if
the information had been material inside informatiib communicated directly to
the analyst.

2. Jewel Knowles is a research analyst at Trimamited. During the course of her
research, Knowles comes across an unpublishedrcbsegport in the firm’s
electronic database which is not password protedteel report concerns ADP, a
biotechnology firm, which is developing an itemlalb equipment using in-house
developed technology. In his report, he recommenstsong buy based on his
personal observation of how the model operates,’afancial projections
concerning the equipment, discussion with compxeg@ives, and analysis of
industry data. He intends to release his reportvihe firm launches a prototype
of the equipment in the market. After reading tgart, Knowles would like to
purchase ADP shares for her investment portfolio.

Can Knowles purchase the stock for her investmertfgio?
A. No, she is not permitted to act on material nonigubformation.
B. Yes, she can act on a recommendation prepared t&@ngosaic theory.
C. Yes, but she will have to seek her supervisor'sseanprior to the
purchase.

Correct Answer: A

Reference:
CFA Leved |, Volume 1, Study Session 1, Reading 2, LOSa
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Knowles cannot purchase the stock for her investiperifolio as the
recommendation is based on material nonpublic mé&tion (discussion with
company executives, observation of how the modetaips, and ADP’s financial
projections concerning an unreleased equipmenpitgeseing combined with
material public information (industry data). Sheshwait until the report is
released.

Receiving her supervisor’s consent to act on mataonpublic information is
itself a violation of the CFA Institute StandardsPwofessional Conduct
concerning responsibility of supervisors and materonpublic information.

The employees of LockHurst Traders, a dealer, festablished an equity fund
that invests in highly speculative ‘hot’ issues tloeir personal investment
portfolios. The fund was set up after receiving Ewer consent and all securities
purchased are pre- cleared by a company officez.ldtest security purchased by
the fund is issued by a manufacturer, which hagipusly undertaken an IPO of
its stock. The employees have made an agreeménthveitmanufacturer whereby
they will purchase a large quantity of the stockntduce an increase in price. The
stock will later be sold to clients when its prites at least doubled.

Which of the following standards lieast likely being violated?

A. Fair dealing
B. Misrepresentation
C. Responsibility of supervisors

Correct Answer: B

Reference:
CFA Leve I, Volume 1, Study Session 1, Reading 2, LOSb

Standards related to fair dealing and responsilofitsupervisors are being
violated. The agreement made with the manufactar@wiolation of the standard
concerning fair dealing as employees will retaig profit generated from the
trade for their fund rather than giving their clieithe opportunity to benefit from
price increases. The standard concerning respditystfisupervisors is also
being violated as the employer has pre cleared@pse that does not give
priority to client interests.

There is nothing in the case to suggest that stdnmeéating to misrepresentation
is being violated.

FinQuiz.com © 2015 - All rights reserved. 4



CFA Level | Mock Exam 5 — Solutions (PM)

When establishing trade allocation procedureslfent portfolios, members and
candidates should consider giving all client ac¢sarticipating in block trades
the

A. same execution price and charging the same conunissi

B. execution price and commission on first in first basis.

C. same execution commission and the execution pasedon first in first
out basis.

Correct Answer: A

Reference:
CFA Leve |, Volume 1, Study Session 1, Reading 2, LOSa

When establishing trade allocation procedureslientcportfolios, members and
candidates should consider giving all client ac¢syarticipating in block trades
the same execution price and charging the same siom.

Mark Michler is a financial analyst who is deyghg performance projections
for Tike Limited, for the financial years 2015 t63D. He uses a forecasting
model developed by his supervisor to extrapolageohcal performance
information (from the years 1990 to 2014) into tieire, makes further
adjustments, and publishes the forecasts in hesarels report. He includes a
small disclosure at the end of the report, whicdse ‘All forecasts represent
simulations of past performance.’

Is Michler in violation of any CFA Institute Standa of Professional Conduct?
A. No.
B. Yes, he is not permitted to use simulated perfocaanformation.
C. Yes, his disclosure does not provide full detariglze simulated
performance.

Correct Answer: C

Reference:
CFA Leve I, Volume 1, Study Session 1, Reading 2, LOSb
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Michler’s disclosure is in violation of the CFA hitsite Standards of Professional
Conduct concerning performance presentation. Aljhche has disclosed the fact
that forecasts represent simulations of past padace, he should fully disclose
the source of the performance data and the timegef the historical
performance.

Walter Stewart is the chief investment manag€aal & Mathews, which is
renowned for its asset management services. Darirafficial visit to an
investment conference, Stewart engages in a discugéth Marie Lance, a
philanthropist who is seeking to establish an itmesit fund for a charitable
foundation. Stewart casually mentions that he anaeaged the account of ‘a
(former) client’ who was seeking to donate a siigaifit sum of money to a cause
like Lance’s. Stewart also offers to ask the clinget in touch with Lance.

Is Stewart in violation of the CFA Institute Standiof Professional Conduct
concerning client confidentiality?

A. Yes.

B. No, because he has not revealed the identity ofliet.

C. No, because information concerning former cliestsa longer
confidential.

Correct Answer: A

Reference:
CFA Level I, Volume 1, Study Session 1, Reading 2, LOSb

Stewart has attempted to pass on client confidanf@rmation concerning his
former client and is thus in violation of the stardirelating to client
confidentiality. The CFA Institute requires membansl candidates to preserve
the confidentiality of former clients and so anformation shared by former
clients is covered by this standard.

Even though Stewart has not revealed the identitigeoclient, he has shared
information that was passed on to him in confidence
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Donna Simpson had an exceptional performanceayehis offered a two-way
ticket and fully paid trip to the Greece by heenli as reward. Simpsorbest
course of action is to:

A. reject the offer.
B. receive consent from her employer before accephiagffer.
C. accept the offer as long as she notifies her engplagcordingly.

Correct Answer: C

Reference:
CFA Leved |, Volume 1, Study Session 1, Reading 2, LOSa

Simpson is not required to receive consent fromengployer prior to accepting
the offer. Gifts from clients are less suscepttbleonflicts of interest as opposed
to gifts from third-parties. Her best course ofi@tts to accept the offer and
notify her employer either before acceptance arafthichever is possible.

With respect to the acceptance of gifts, the Q#Aitute:
A. discourages customary business-related entertainmen
B. encourages setting a strict value limit for accelatgifts.
C. encourage accepting gifts from parties other thiamts.

Correct Answer: B

Reference:
CFA Level I, Volume 1, Study Session 1, Reading 2, LOSa

With respect to the acceptance of gifts, the CFitute encourages setting a
value limit for acceptable gifts based on locategional customs. Customary,
business-related entertainment is not prohibitddrag as its purpose is not to
influence or reward the member or candidate.
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Which of the following ideast likely the code of ethics?

A. Promote the integrity of and uphold the rules goireg capital markets.

B. Maintain and improve professional competence arkestio maintain and
improve the competence of other investment probests

C. Deal fairly and objectively with all clients whemngviding investment
analysis, making investment recommendations ontgkivestment
actions.

Correct Answer: C

Reference:
CFA Level I, Volume 1, Study Session 1, Reading 1, LOSa

Both options A and B are the code of ethics whpggan C is Standard Il (C)-
Fair dealing

With the permission of her former employer, [bayReed shares information
concerning her achievements at the firm with hev employer. She writes a
short summary, which includes the results she blaeaed over the past ten years
and the names of several important client accdentehich she executed trades.
Taylor forgets to mention her association with foeemer employer in her
summary but takes caution not to share additioirehtanformation with her new
employer.

Taylor is in violation of the CFA Institute Standarof Professional Conduct
relating to:

A. record retention.
B. misrepresentation.
C. loyalty to employer.

Correct Answer: B

Reference:
CFA Level I, Volume 1, Study Session 1, Reading 2, LOSb
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Taylor is in violation of the standard relatingnisrepresentation as she did not
identify the performance as being achieved at tlenér employer. She is
unintentionally giving the impression that she @pes as an independent trader.

Taylor is not in violation of the standard relatitogrecord retention as she has
received employer consent for sharing performanfmation.

By sharing the names of clients whose accountsrstmaged, Taylor is in
violation of the standard relating to preservatdilient confidentiality as
opposed to loyalty to employer. She is not in wiola of the latter standard
because she is not misusing client informationisghe misappropriating clients
or client lists. Sharing the names of former cheista violation of their right to
confidentiality.

Following the conclusion of research on a stgeipment manufacturer, a
research firm releases a one word ‘sell’ recommigoni#o all its clients and
prospects and discloses that ‘additional infornmationcerning the
recommendation is available from the producer efréport’.

Based on the communication used by the firm, mast likely:

A. in violation because the firm must include the dastthat were used to
arrive at the recommendation.

B. in violation because the firm must disclose thanided ‘additional
information’ as part of the recommendation.

C. not in violation of the Code and Standards as comaation is defined as
‘highly diverse’ by the CFA Institute StandardsRybfessional Conduct.

Correct Answer: A

Reference:
CFA Leve I, Volume 1, Study Session 1, Reading 2, LOSb
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According to Standard V (B) Communication with @li€ and Prospects,
communication can range from an in-depth reseagbrt to a one word ‘buy’ or
‘sell’. The firm is in violation because it hastnocluded the factors used to
arrive at the recommendation; this will allow cliemand prospects to judge the
suitability of a recommendation.

However, it is necessary for the firm to follow thkeef communication with a
written disclosure that additional information centing the recommendation is
available from the producer of the report. The fulisclosure is not in violation
of the standard in this regard.

Jason Gilbert, CFA, is an exam grader folGR& Program. He also works as an
independent research analyst. When asked aboexpésience as a grader and
the CFA Program’s scope in the financial marketb&t makes the following
comments:

Comment 1: “Although results for the CFA exam agétp be released, pass rates
will be the lowest across all levels.”

Comment 2: “The CFA Program equips candidates tuadified enough to deal
with a broad range of real-life topics includingt mot limited to,
financial analysis, portfolio management, quantigatechniques
and corporate finance.”

Which commenmmost likely represents a violation of the CFA Institute Staddar
of Professional Conduct?

A. Comment 1 only.
B. Comment 2 only.
C. Both of the comments.

Correct Answer: A

Reference
CFA Level I, Volume 1, Study Session 1, Reading 2, LOSb
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Comment 1 represents a violation of the standdadimg to conduct as members
and candidates in the CFA program. As a gradeth®CFA exams, Gilbert is
responsible for upholding the confidentiality oétBFA exam. Information
concerning compiled pass rates, prior to the relehgxam results, is considered
confidential information and sharing it with thelic is considered a violation.

Gilbert is not in violation of any standards wi#hspect to his second comment.
His comment with respect to the CFA Program isufalcand framed in such a
manner.

Upon receiving a written complaint, the CFAtinge Designated Officer
conducts an investigation and discovers that atiasi of the Code and Standards
has occurred. If the designated officer issues@aglinary sanction, the member
or candidate:

A. can reject it.
B. must accept it.
C. will receive a cautionary letter.

Correct Answer: A

Reference:
CFA Leved I, Volume 1, Study Session 1, Reading 1, LOSa

If the designated officer finds that a violationtbé Code and Standards has
occurred, he will issue a disciplinary sanctionjekimay be accepted or rejected
by the member or candidate.

The Code and Standards require members andteteglto make a reasonable
inquiry into a client’s risk and return objectivasd financial constraints prior to
making investment recommendations and taking imvest action for:

A. clients with a stated mandate, strategy or stylg.on

B. members or candidates in an investment advisoayioekhip only.

C. clients with a stated mandate, strategy or styteraembers or candidates
in an investment advisory relationship.

Correct Answer: B
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Reference:
CFA Level I, Volume 1, Study Session 1, Reading 1, LOSc

When managing funds to a stated mandate, strategfyle members and
candidates must make investment recommendatioiakeinvestment action that
is consistent with the stated objectives and cairgs of the portfolio; amquiry
isnot required.

When in an investment advisory relationship wiilerds, the standard relating to
suitability requires members and candidates to naaleasonable inquiry into a
client’s risk and return objectives prior to makingestment recommendations
and taking investment action for clients.

Which of the following statements concernirgjroing compliance with the
GIPS standards ost likely correct?

A. Compliance must be achieved on a firm-wide basis.

B. Compliance with the GIPS standards is enforcecbglland regulatory
authorities.

C. Software vendors supplying performance calculasioitware programs to
investment management firms can claim compliance the GIPS
standards.

Correct Answer: A

Reference:
CFA Level I, Volume 1, Study Session 1, Reading 3, LOSa

Compliance is a firm-wide process and cannot bésaeld on a single composite
or product.

Compliance with the GIPS standards is entirely mtdty and is not enforced by
legal or regulatory authorities.

Only investment management firms that actually ngaressets can claim
compliance, therefore software vendors who supgplyvare to investment
management firms for the purposes of calculatinfppmance cannot claim
compliance.
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Which of the following iseast likely tested by the verification process? Whether
the investment management firm (‘s):

A. meets the definition of a firm as laid out by th#’S standards.

B. policies and procedures for calculating performaaresin compliance
with the GIPS standards.

C. has complied with the composite construction rexjagnts of the GIPS
standards on a firm-wide basis.

Correct Answer: A

Reference:
CFA Leve I, Volume 1, Study Session 1, Reading 3, LOSc

Verification tests whether the:

* investment management firm’s policies and procesltoecalculating and
presenting performance are in compliance with tHeSStandards.

* investment management firm has complied with thamusite
construction requirements of the GIPS standards finm-wide basis.

For periods beginning on or after January 112the GIPS standards require
portfolios to be valued on the basis of:

A. fair value.
B. original cost.
C. present value.

Correct Answer: A

Reference:
CFA Level I, Volume 1, Study Session 1, Reading 4, LOSa

For periods beginning on or after January 1, 284 GIPS standards require

portfolios to be valued on the basis of fair vadunel in accordance with its
Valuation Principles.
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18. Base Corp. resides in a country that enactesl déend regulations for calculating
and presenting investment performance fifteen yagos By complying with
local laws and regulations, Base Corp:

A. cannot claim compliance with the GIPS standards.

B. has automatically complied with the GIPS standards.

C. can also comply with the GIPS standards but mwst griority to the
former in the event of conflict between the two.

Correct Answer: C

Reference:
CFA Leve |, Volume 1, Study Session 1, Reading 4, LOSc

In the event a country has imposed laws and ragaktor calculating and
presenting investment performance, firms are atwo@waged to comply with the
GIPS standards. Compliance with these laws or atignls does not
automatically lead to compliance with the GIPS dtads; this is because a
conflict may exist between the former and lattertHe absence of a conflict,
compliance with the local laws or regulations Wethd to a compliance of the
GIPS standards as both will impose the same rageimées. However, when a
conflict exists, firms are required to give prigrib local laws and regulations and
disclose the conflict.

FinQuiz.com © 2015 - All rights reserved. 14
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Questions 19 through 32 relate to Quantitative Metbds
19. If there is no variability in the data set, gemmetric mean will equal to the:

A. arithmetic and harmonic mean.
B. harmonic mean but will be lower than the arithmatiean.
C. arithmetic mean but will be higher than the harmanean.

Correct Answer: A

Reference:
CFA Level I, Volume 1, Study Session 3, Reading 7, LOSm

In the absence of any variability in a data set,gaometric mean will equal to
both the arithmetic and harmonic mean. Based onthewarmonic mean is
derived mathematically, as long as all observatitnge the same value (i.e.,
there is no variability in the data set), this mealhequal to the geometric and
arithmetic mean.

20. A recruitment agency is short listing candiddte a position. The candidates
being evaluated are from numerous educational bagkds. The probability that
the selected candidate is an MBA is 0.65 and thbability that the chosen
candidate is the most appropriate for the role39.0The agency has worked out
that the probability a chosen candidate is appat@given that he is of a non-
MBA is 0.25.

Using the total probability rule, what is the prbbigy that the chosen candidate
is themost appropriate for the HR role given that he is an MNPBA

A. 0.327.
B. 0.300.
C. 0.750.

Correct Answer: A

Reference:
CFA Leve I, Volume 1, Study Session 2, Reading 8, LOSe
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P (A) = Probability candidate is most appropriat@.30

P(A%) = Probability candidate is not appropriate = 0.70

P (S) = Probability candidate is an MBA = 0.65

P(S°) = Probability candidate is of a non-MBA educatibhackground = 0.35
P(A/S°) = Probability candidate is appropriate given MoBA = 0.25

Total probability rule:
P (A) = P(AS)P(s)+ P{As° P(s°)
P(AS) =[0.30 - 0.25(0.35)] + 0.65 = 0.3269 or 0.327

The most probable definition of an exhaustivent is that it:

A. covers all possible outcomes.
B. has a specified set of outcomes.
C. is the chance that a specified event will occur.

Correct Answer: A

Reference:
CFA Leve I, Volume 1, Study Session 2, Reading 8, LOSa

An exhaustive event is one that covers all possibteomes. An event, in
general, is defined as a specified set of outcofPieability is defined as the
chance that a specified event will occur.

Dwight Enterprises holds equity stock of Marnited. The current price per
share is $30. The probability that the investmeiitincrease in value over the

coming year is denoted @s Over the past year, the stock had increasedlireva

in seven out of the twelve months. If the stockéases in value, it is expected to
earn an annualized rate of return of 2%.

Viewing the monthly change in stock prices as imimal Bernoulli trials, the
probability that the stock will increase in valueeothe coming year idosest to:

A. 0.0117
B. 0.0200.
C. 0.5833.

Correct Answer: C
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Reference:
CFA Level |, Volume 1, Study Session 3, Reading 9, LOSg

With each stock price movement viewed as an indafid@ernoulli trial, the

probability of an up move (price increase) is bazedhe number of up-moves in
the preceding year; i.e. out of the twelve monthseoved the stock increased in
value during seven of those months. Probabilitgrofip-move is 7/12 or 0.5833.

Defining properties of a probabilitgast likely include the following:
A. probabilities are based on logical analysis.
B. the probability of any event is between 0 and 1.
C. the sum of probabilities of any set of mutually leseve and exhaustive
events equals 1.

Correct Answer: A

Reference:
CFA Level I, Volume 1, Study Session 2, Reading 8, LOSb

Defining properties of a probability include:

» the probability of any event is between 0 and 1.
» the sum of probabilities of any set of mutually leso/e and exhaustive
events equals 1.

Which of the following statementsleast likely correct regarding a limitation of
technical analysis?

A. Technicians restrict their analysis to studying keamovements.

B. Technicians are slow to recognize changes in trandfor patterns.

C. The analysis cannot be applied to asset classeddh@ot have an income
stream.

Correct Answer: C

Reference:
CFA Leve I, Volume 1, Study Session 3, Reading 12, LOSa

FinQuiz.com © 2015 - All rights reserved. 17



25.

CFA Level | Mock Exam 5 — Solutions (PM)

Technical analysis is the only form of analysid ten be used to analyze asset
classes that do not generate an income streamasugbmmodities, currencies
and futures; this form of analysis does not relywaluation models but on market
trends and patterns.

A drawback of technical analysis is that it is kied to studying market
movements with little consideration given to otpexdictive analytical methods
such as interviewing a company’s customers to oeter future demand for its
products.

A limitation of technical analysis is that trendsdgpatterns must be in place for
some time before they are recognizable. Thus, i#dliion of technical analysis is

it can be late in identifying changes in trendpaiterns.

Which of the following features most likely correct regarding binomial random
variable?

A. The individual trials are positively correlated.
B. The probability of success is constant for alll$ria
C. The probability of success can only take on a vafugor 1.

Correct Answer: B

Reference:
CFA Level I, Volume 1, Study Session 2, Reading 9, LOSe

Features distinct to a binomial random variabldude:
* The individual trials are independent (uncorrelatatd

» The probability of success is constant for alll$rend does not necessarily
have to equal to O or 1.
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26. The exhibit provides information concerning igeidy returns on two otherwise
identically managed equity funds, A and B, as \aselbktatistical estimates
concerning their mean return differences over s fifty quarters.

Measure | Fund A Returp Fund B Return Differences

(%) (%) (Fund A — Fund B)
Mean 2.780 3.756 -0.976
Standard 4.672 5.468 -0.796
Deviation

Using a critical value of 1.671, which of the fallmg conclusions isnost likely
valid concerning differences between the meanmstan Fund A and B?

A. The difference is significant.
B. The difference is insignificant as the null hypdisds rejected.
C. The difference is insignificant as the null hypatisdas not rejected.

Correct Answer: C

Reference:
CFA Leve [, Volume 1, Study Session 3, Reading 11, LOSI

The null hypothesis is that the difference betwdnenmean returns is zero.

Using the critical value of 1.671, the test statist calculated as follows:

:E—fzdo _ —0976-0

t =01734

sd - 0796//50

Since neither of the rejection points (t > 1.671 or-1.671) is met, the null
hypothesis that the difference in mean returngitie i not rejected. In other
words one can conclude that the difference in mmefnns is not statistically
significant.

27. The real risk-free interest ratest likely reflects:
A. compensation for expected inflation.

B. the relationship between different dated cash flows
C. time preferences of individuals for current verBusre real consumption.
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Correct Answer: C

Reference:
CFA Leve |, Volume 1, Study Session 2, Reading 5, LOSa

In economic theory, the real risk-free interest na&flects time preferences of
individuals for current versus future real consuorptand is the single period real
risk-free rate if no inflation were expected. Theerest rate reflects the
relationship between different dated cash flowslevtlie nominal risk-free
interest rate reflects compensation for expectédtian.

A cricket club’s manager is evaluating the perfance of its players over the past
year and will use this as a basis for forecastirigré performance. The

probability that a player performing well in thespaeason will continue to do so
is 0.65. The probability a chosen venue will previdvorable playing conditions
for a player is 0.20. The probability that eithétlee two events materialize is
0.40.

The probability that past performance and favorakdging conditions contribute
positively to player performance in the futureligsest to:

A. 0.13.
B. 0.40.
C. 0.45.

Correct Answer: C

Reference:
CFA Level I, Volume 1, Study Session 2, Reading 8, LOSf

Using the addition rule, the probability that bptst performance and playing
conditions contribute positively to player perfomaa is 0.45.
P (AorB)=P(A) + P(B) — P(A and B)

Where P(A) = Probability that a player performinglln the past will continue
to do so in the future

P(B) = Probability that playing conditions will ciitbute positively to player
performance

P(A and B) = 0.65 + 0.20 — 0.40 = 0.45
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29. A telecommunication company’s procurement astdigs forecasted that the
average cost for one of its key inputs will equ2b$0 per unit. The analyst
would like to measure the dispersion around his$ fmrecast using the probability
distribution of purchase costs in the current figesar.

Probability | Purchase Cost
($)
0.10 28.00
0.25 27.80
0.35 26.40
0.30 19.10
1.00

The standard deviation of unit purchase costsercthrent fiscal year idosest
to:

A. $0.28.
B. $3.69.
C. $4.97.

Correct Answer: B

Reference:
CFA Levd I, Volume 1, Study Session 2, Reading 8, LOS|

o? (Cost) =(0.10)(28.00- 25.00° +(0.25 (27.80-25)" +
(0.39(26.40-25.00° +(0.30)(19.10- 25.0°

o(Cost) = /135915 = $3.686665
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30. Marcus Babbage holds a $500,000 investmenfiofiortin the current year
Babbage will need to withdraw $40,000 to finandmuisiness venture. However,
he does not want the withdrawal to invade his ptdf principal. His portfolio
manager has identified three alternative assetatilans for Babbage:

A B C

Expected annual | 13 22 15
return
Standard 17 28 19
deviation of return

Which of the three allocations is th@st optimal for Babbage’s investment
portfolio?

0w p
O W >

Correct Answer: B

Reference:
CFA Level |, Volume 1, Study Session 3, Reading 9, LOSn

Based on Babbage’s withdrawal requirements, hestiold return is 8.00%
($40,000/$500,000).

To determine which allocation is optimal, the sgfiatst ratio for each allocation
is calculated as follows:

Allocation A: (13 —8)/17 = 0.2941
Allocation B: (22 — 8)/28 = 0.5000
Allocation C: (15 — 8)/19 = 0.3684

Based on the calculated measures, allocation B& optimal.
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A nonparametric test is preferred to a paramtgst when:

A. stronger measurement scales are required.

B. the randomness of a sample is being questioned.

C. the population from which the sample is drawn suased to be normally
distributed.

Correct Answer: B

Reference:
CFA Level I, Volume 1, Study Session 3, Reading 11, LOSk

A nonparametric test is preferred to a parametre when the data do not meet
distributional assumptions, when the original datagiven in ranks (and a
stronger measurement scale is not required), onwiehypothesis being tested
does not concern a parameter. For instance, oneng®l/to test whether a
sample is random or not rather than testing a petem

A portfolio manager is comparing the performeanta client’s portfolio before
and after the inclusion of real estate. He has t¢iechpelevant data in a table. He
aims to analyze whether quarterly returns have gddusignificantly between the
two periods.

He collects returns data five years prior to and frears after the inclusion.

Mean Variance
N Quarterly of Returns
Returns (%)
Before inclusion 20 2.584 225
After inclusion 20 1.821 151

Using a 2.1555 rejection point, the manager mokt likely conclude that the
inclusion of real estate:

A. significantly alters portfolio performance.
B. does not significantly alter portfolio performance

C. has an indeterminate effect on portfolio perforneanc

Correct Answer: B
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Reference:
CFA Level [, Volume 1, Study Session 3, Reading 11, LOSj

The null hypothesis is stated as = g,implying that the ratio of population

variances equal, while the alternate hypothestestaat the two periodic
variances are not.

Following the convention of using the larger of the ratios, period 1's
variances appear in the numerator of the F-test.

The F-test statistic is calculated as follows:

The F-statistic value is lower than the rejectiompand so we fail to reject the
null hypothesis that the population variances tfires is same in the five years
prior and five years post inclusion of the assa$€] thus the inclusion of real
estate does not significantly alter portfolio penfance.
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Questions 33 through 44 relate to Economics

33.

34.

Laura Martin, CFA, is a British investor curtlgrholding Singaporean equities.
She is exploring arbitrage opportunities in theviand foreign currency market.
The current GBP/SGD spot exchange rate is 2.108) h8s devised the
following strategy:

Invest SGD for twelve months in risk-free zero confponds at a rate of 4.5%.
At the end of the term convert the SGD to the GB&haagreed upon forward rate
of GBP/SGD 2.0303.

The return on the strategy in domestic currenaysesclosest to:

A. 0.35%.
B. 0.45%.
C. 0.79%.

Correct Answer: C

Reference:
CFA Leve 1, Volume 2, Study Session 6, Reading 21, LOSf

Martin will convert each GBP into SGD 0.4751 (1(50) today. The SGD
amount will be invested for twelve months resultinghe investment growing to
SGD 0.5098 (0.4751 x 1.045). After twelve monthgenalapsed, SGDs will be
sold at the forward rate generating GBP 1.0079 ($&D98 x 2.0303). This
translates into a domestic return of 7.9%.

In context of the gains from global tradingcauntry:

A. decreases its welfare by solely focusing on pradythe good in which it
has a comparative advantage.

B. which does not have an absolute advantage canmofrgen trading
goods in which it has a comparative advantage.

C. can earn higher trading gains if the differenceveen the world price of a
good or service and autarkic price is increased.

Correct Answer: C
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Reference:
CFA Level 1, Volume 2, Study Session 6, Reading 20, LOSe

A country can expect it enhance its gains fromitrgthe greater the difference
between the world price and autarkic price.

A country that does not have an absolute advardageain from trading goods
in which it has a comparative advantage; this ahse comparative advantage
depends on the relative costs of producing a goodxXport and that which is
imported from another country. If a country candarce a good or provide a
service at a cost lower than its trading partridras a comparative advantage.

A country increases its welfare by specializingha production of good or
provision of service in which it has a comparatgdyantage. This is because it
now consumes at a higher point, which is on thddmarice line as well as on a
higher indifference curve.

The exhibit below illustrates the transactiona country’s balance of payment
account for the fiscal year 2013:

Amount

($ millions)
Foreign remittances by non-  14.5
resident citizens
Dividend income on foreign 8.6
equity investments
Acquisition of natural gas 2.5
extraction rights
Total gift taxes 3.4
Exports of goods and 22.7
services
Foreign owned assets inthe  44.9
country

Based on the information provided, the current antbalance islosest to:
A. $16.8 million.

B. $45.8 million.
C. $49.2 million.
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Correct Answer: B

Reference:
CFA Leve 1, Volume 2, Study Session 6, Reading 20, LOSg

Current account balance =
Foreign remittances by non-resident citizens + @#wd income on foreign equity
investments + Exports of goods and services

Current account balance = $(14.5 + 8.6 + 22.7)ionilk $45.8 million

The government of a developing country inteledacrease domestic savings by
reducing the budget deficit. The impact of the goweent’s proposed plans on
the current account balancemest likely:

A. neutral.
B. a decrease.
C. anincrease.

Correct Answer: B

Reference:
CFA Leve 1, Volume 2, Study Session 6, Reading 20, LOSh

A plan to reduce the budget deficit (and increasmabtic savings) will increase
the current account balance as seen by the equétfor S—1+ (T - G - R),
where the expression (T — G — R) is the governmeerglus or savings. A
combination of tax increases, reduced governmearidipg, and/or lower net
transfers to the private sector will achieve thisgose.

A key function of the International Monetaryn@u(IMF) is to:
A. ensure the stability of international payments.
B. regulate cross-border transactions on a globa¢scal
C. develop robust financial systems which supportilegdrrangements.

Correct Answer: A

Reference:
CFA Leve 1, Volume 2, Study Session 6, Reading 20, LOSI
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A key function of the IMF is to support an opentsys of international payments
by ensuring its stability.

A key function of the World Bank Group is to develmbust financial systems,
which support activities ranging from micro creitfinancing large corporate
ventures.

The World Trade Organization is the only internaéibbody that regulates cross-
border trade relations among nations on a glotaésc

A firm can increase aggregate supply in the:

A. short run by increasing physical capital stock.

B. very short run without adjusting output prices.

C. long run by increasing wages in line with the aggte price level
changes.

Correct Answer: B

Reference:
CFA Leve 1, Volume 2, Study Session 5, Reading 17, LOSg

In the very short run a company can increase aredse output without changing
aggregate prices as evidenced by the horizontglsresrt run aggregate supply
curve.

Over the short run, the aggregate supply curveweand sloping. Despite more
costs becoming variable, physical capital stoakis input, which will remain
fixed until a few decades have elapsed.

In the long run, wages and other input prices chanrgportionally so that the
aggregate price level has no impact on aggregata\surhis is illustrated by a
vertical long run aggregate supply curve wherenarease in the price level will
have no impact on output.
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39. Ecrot is a manufacturer of computers. The akhédow highlights the aggregate
sum of production for the firm as well as the qitsraf labor employed in the
process.

Exhibit:
Labor and Aggregate Production Data
Labour| Aggregate Sum
of Production

150
260
390
450
505
535

ol wl N ROl
N

Ecrot’s marginal return is maximized when the maximnumber of workers
employed is no more than:

0w
o MW

Correct Answer: A

Reference:
CFA Level 1, Volume 2, Study Session 4, Reading 15, LOSd

Marginal return is measured as the change in malrgioduct from adding an
additional unit of labor.

Marginal return or product is maximized when thenber of workers employed
is no more than 3.

Marginal return = (390 — 260)/(3 — 2) = 130 units
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Janice Lee is a British investor seeking tcpase U.S. small-cap equities in a
year’s time. The current GBP/USD nominal spot ergearate is 0.9055 and is
forecasted to rise by 8% while Lee expects herpaathasing power to increase
by 15% by year end.

If the price of U.S. goods is expected to incrdas8%, the British price level is
forecasted to:

A. decline by 3.27%.
B. decline by 15.00%.
C. increase by 30.87%.

Correct Answer: A

Reference:
CFA Level 1, Volume 2, Study Session 6, Reading 21, LOSa

Based on the percentage change in real purchasimgrig- 15%) or increase in
real exchange rate, the British price level is dasted to decline by 3.27%.

[1+ 3%

Percentage change in real exchange rgte 8%)x
g g g él 0) [1+ x%]

-1=15%

X% =-3.27%

An exchange rate dealer based in France hasdjtie following exchange rates:

Exchange Rate
Quotation
EUR/USD 1.3718
EUR/GBP 0.8178
EUR/BRL 3.0214

Another dealer has quoted a USD/BRL cross rate8463. A French investor
can exploit the arbitrage opportunity and earnddiipof:

A. USD 69,380 per BRL 100,000 traded.
B. BRL 69,380 per USD 100,000 traded.
C. BRL 124,846 per USD 100,000 traded.

Correct Answer: A
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Reference:
CFA Level 1, Volume 2, Study Session 6, Reading 21, LOSd

The USD/BRL cross rate quoted by the original deiglequal to 2.2025:
USD/BRL = (1/1.3718) x 3.0214 = 2.2025

The investor will buy BRL from the original deakend sell BRL to the dealer
guoting a rate of 2.8963 thereby earning an adptgarofit of USD 69,380
[(2.8963 — 2.2025) x BRL 100,000].

The investor can earn an arbitrage profit of USD,283 per BRL 100,000
traded.

With respect to the impact of fiscal policyaggregate demand:

A. Monetarists forecast the effects as powerful.

B. Keynesians believe that the effect is only temporar

C. Keynesians forecast a powerful effect subject ¢osijpare capacity in an
economy.

Correct Answer: C

Reference:
CFA Leve 1, Volume 2, Study Session 5, Reading 19, LOSn

With respect to the impact of fiscal policy on aggate demand, Keynesians
believe that the impact is powerful when thereuisssantial spare capacity in an
economy. Monetarists believe that fiscal policyraes only have a temporary
effect on aggregate demand.

An economist has forecasted that a countryds@ay can grow credibly over the
long-term at a sustainable rate of 1.8% per yelae.dountry’s inflation target is
2.0% and the central bank has announced its ioteti implement an
expansionary monetary policy.

To implement the stated policy, the policy ratetgtionost likely:
A. exceed 3.8%.

B. not exceed 2.0%.
C. not exceed 3.8%.
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Correct Answer: C

Reference:
CFA Leve 1, Volume 2, Study Session 5, Reading 19, LOSk

The central bank’s monetary policy will be expansicy if the policy rate is
below the neutral rate, 3.8% (1.8% + 2.0%).

Debora Eaton is analyzing money supply and ddnrathe nation of Nigeria.
Based on her preliminary findings, Eaton has detezththat the interest rate
where there will be no excess money balances %.6.5

Holding all else constant, if bonds offer an ing¢nate of 6.2%:

A. prices will increase.
B. supply will increase.
C. individuals will decrease their money holdings.

Correct Answer: B

Reference:
CFA Leve 1, Volume 2, Study Session 5, Reading 19, LOSn

If bonds offer a rate below the equilibrium ratdrgérest, in this case below
6.5%, there would be an excess demand for monéyimdividuals seeking to
increase their money holdings as corporations adididuals sell their bonds.
The higher selling activity will increase the suppf bonds. In doing so, the
prices of bonds will fall and interest rate offeseil increase until it reaches its
equilibrium.
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Questions 45 through 68 relate to Financial Repontig and Analysis

45.

46.

A deferred tax asset will result when the sotuto the expression ‘Income tax
payable (for income tax purposes) — Income tax es@éon the income
statement)’ is:

A. positive and the difference is due to temporaryrigrdifferences.

B. positive and the difference is due to permanenngydifferences.

C. negative than income tax expense and the differsndee to temporary
timing differences.

Correct Answer: A

Reference:
CFA Leve [, Volume 3, Study Session 9, Reading 26, LOSe

A deferred tax asset will result when income tayaide based on income for tax
purposes exceeds income tax expense based onegtfinetncial statement
income (or is positive) and the difference is dugeimporary timing differences.

Starred Limited redeems a portion of its bayshé prior to the stated maturity
date. Which of the following statememiost accurately highlights the effect of
the redemption given the company complies with 128&rred will:

A. reduce bonds payable by the face value of the batdsemed.

B. report the cash used for redemption as a castoautfom financing
activities.

C. report the unamortized debt issuance costs a®pgain or loss on debt
extinguishment.

Correct Answer: B

Reference:
CFA Level [, Volume 3, Study Session 10, Reading 32, LOSc
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Any cash used to redeem a bond issue will be rep@s a financing cash
outflow.

If a company redeems a bond issue prior to its natdate, bonds payable is
reduced by the carrying amount of the redeemedsdbiven that debt issuance
costs are recognized as part of the carrying amafustiability, the unamortized
debt issuance costs do not need to be reportéx imtome statement as part of
gain or loss on debt extinguishment; this is beedhiese unamortized costs are
recognized when the difference between the carnyathge and the cash paid to
redeem the bonds is reported as a gain or losglonecttinguishment.

In 2013 Maritime Inc.’s ROE ratio has increabg®0.7% from its 10.7% level
in 2012. The exhibit below illustrates selectiveaincial information concerning
the company over the two years.

Exhibit:
Selective Financial Information for Maritime Inc.

2013 2012
Return on assets 12.8% 10.3%
Total asset turnover 2.5 1.4
Average total assets $12.1 million  $11.5 millian
Average shareholders’ equity  $11.1 million  $11.1liom
Tax rate 35% 30%

The increase in the company’s ROE caost likely be attributed to an increase in:
A. the tax rate.
B. financial leverage of 5.2%.
C. net profit margin of 34.4%.

Correct Answer: B

Reference:
CFA Leve |, Volume 3, Study Session 9, Reading 28, LOSd
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ROE = Return on assets x financial leverage

Financial leverage has increased from 1.036 ($dlllion/$11.1 million) to
1.090 ($12.1 million/$11.1 million) or by 5.2% (2@1.036 — 1). An increase in
financial leverage will increase ROE.

An increase in tax rate implies a decrease in tagdn, which in turn will
decrease the ROE. An increase in the tax rate @mpiat a company will retain
less of its pre-tax profits suggesting a decreasdter-tax profits.

Net profit margin = Return on assets + Total assgiover
Net profit margin (2013) = 12.8% + 2.5 =5.12%
Net profit margin (2012) = 10.3% + 1.4 = 7.36%

Net profit margin has decreased by 30.04% (5.1236%%.- 1). A decrease in net
profit margin will decrease ROE.

If a firm decides to use the straight-line noeltlof depreciation instead of the
accelerated method for a new piece of equipmenthwdf the following would
most likely increase during the year of purchase?

A. Asset turnover.

B. Return on assets.

C. Operating profit margin.

Correct Answer: C

Reference:
CFA Leve [, Volume 3, Study Session 9, Reading 30, LOSe

With the straight line method, depreciation woudttictase, and the operating
profit margin would increase (since the operatingfipwould increase).
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Dract Limited borrows $1.5 million to finandeetconstruction of a processing
facility that will have a useful life of 25 yearsan interest rate of 6%. The
construction will be completed in three years. Daepares and presents its
financial statements in accordance with IFRS. Wioitthe following
transactions wilmost likely be recorded in relation to the loan?

A. Interest costs of $90,000 will be capitalized.
B. Dract will classify $270,000 as an investing castflow.
C. At the end of the first year, depreciation expengleequal $60,000.

Correct Answer: B

Reference:
CFA Leve [, Volume 3, Study Session 9, Reading 30, LOSc

Interest costs that are incurred to finance thesttoation of the facility for
company use are capitalized as part of the asdedraortization of these costs is
recorded as part of depreciation expense.

Dract will capitalize borrowing costs of $270,0@1(500,000 x 6% x 3).
Capitalized borrowing costs will be classified asmavesting cash outflow.
Annual amortization of the capitalized interesttsasill equal to $3,600
[($1,500,000 x 0.06)/25]. These will be includedhe depreciation expense
related to the asset of $60,000 ($1,500,000/25).

With respect to the initial recognition of goolli related to a business
combination, a deferred tax liability is:

A. recognized only to the extent of subsequent impamtraharges.

B. recognized only to the extent of the differencenaen the carrying
amount and tax base.

C. not recognized for either the difference betweenddrrying and tax base
or for subsequent impairment charges.

Correct Answer: C

Reference:
CFA Leve [, Volume 3, Study Session 10, Reading 31, LOSf
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With respect to initial recognition of goodwill,deferred tax liability is not
recognized for the difference between the tax laaskcarrying amount of an
asset. Although impairment may lead to a tempadéfgrence between the tax
base and carrying amount of goodwill, there willnmedeferred taxation because
a deferred tax liability was not initially recogeix.

The exhibit below illustrates the inventory ghase record for ABC Limited for
the financial year 2012. The company uses the Litgthod of inventory
accounting.

Exhibit:
Inventory Purchase Record for ABC Limited, Year 202
Per Unit
Date Units | Amount (€)
Beginning | 150 20
inventory
28 Jan Purchases 2( 24
15 Feb Purchases 30 25
22 March Sales 80 30

17 June Purchases 3( 28
20 September Sales 100 30
9 November Purchases 4( 35

The cost of sales reported for the yeanl asest to:
A. €2,700.
B. €3,830.
C. €4,670.

Correct Answer: C

Reference:
CFA Level I, Volume 3, Study Session 9, Reading 29, LOSc
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Cost of sales reported under the LIFO method aémory accounting comprises
recent items of purchase.

In 2012, a total of 270 units (150 + 20 + 30 + 3@0% were available for sale and
180 units (100 + 80) were sold.

40 (9 November) x €35 = €1,400

30 (17 June) x €28 = €840

30 (15 February) x €25 = €750

20 (28 January) x €24 = €480

60 (Beginning inventory) x €20 = €1,200

Cost of sales = €1,400 + €840 + €750 + €480 + €1;264,670

A financial analyst has tabulated the followdeaga for a large-cap firm:

Beginning shareholder’s equity $245 million
Dividends $23 million
Ending shareholder’s equity $475 million
Net Income $67 million
Repurchase of common stock $0

The firm’s other comprehensive incomeclissest to:
A. $0.
B. $186 million.
C. $297 million.

Correct Answer: B

Reference:
CFA Level [, Volume 3, Study Session 8, Reading 25, LOSI

475-[245+67-23) = $186 million has bypassed therime stated and is therefore
other comprehensive income.
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53. Kayle Limited purchased an automated box stagwmiachine for $4,000. The
original useful life and salvage value of the maehis 10 years and $800,
respectively. Rob Marshall would like to evaludie tmpact of the depreciation
methods on the company’s operating profit marguimy the first year of
purchase, Kayle Limited reported revenues of $25)00ile earnings before
interest, tax, depreciation and amortization (EBA)Was $12,000.

The operating profit margin (EBIT/revenues) repdmi@der the straight-line
method and double declining method of depreciatiespectively, in the first
year of the machine’s operationgiesest to:

Straight-line Double-declining
method: method:
A. 46.72% 44.80%.
B. 46.72% 46.40%.
C 48.00% 45.44%.

Correct Answer: A

Reference:
CFA Leve |, Volume 3, Study Session 9, Reading 30, LOSd

Depreciation expense (straight line) = ($4,000 8680 = $320

Depreciation expense (double-declining method)GO%4/10 x 2) x $4,000 =
$800

Operating profit margin (straight-line) = ($12,006320)/$25,000 = 0.4672 or
46.72%

Operating profit margin (double-declining) = ($1@00- $800)/$25,000 =
0.44800 or 44.80%
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Which of the following statements accuratelgrads the differences between
income tax accounting under IFRS and U.S. GAAP?

A. Deferred income taxes related to the revaluatigoroperty, plant and
equipment are recognized in equity under IFRS only.

B. Deferred tax assets related to a step-up in theewa an acquired asset to
fair value in a business combination are recognizeter IFRS only.

C. Unlike IFRS, which require a full provision to becognized for deferred
income taxes, U.S. GAAP require a provision todmognized to the
extent of recoverability of deferred taxes.

Correct Answer: A

Reference:
CFA Level I, Volume 3, Study Session 10, Reading 31, LOS;|

Given that the revaluation model is only permitiedier IFRS any related
deferred tax is recognized in equity. The recognitf deferred taxes related to
revaluation is not applicable under U.S. GAAP; ikibecause revaluation is
prohibited.

The general approach to the recognition of defea®es is making a full
provision under both IFRS and U.S. GAAP.

Deferred tax assets related to a step-up in theatiah of assets to fair value at
the time of a business combination are requirdzeteecognized under both IRFS
and U.S. GAAP.

In the financial year 2010, a company repoa®&cbunting profit and taxable
income of $150,000 and $147,400, respectivelydtiiteon, the company
received $8,500 in tax refunds during the year evhid deferred tax liabilities
account increased by $2,500. The company paid 882r0taxes. The applicable
tax rate is 25%.

Income tax expense for the year 2016 asest to:
A. $36,850.

B. $39,350.
C. $42,000.
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Correct Answer: B

Reference:
CFA Leve |, Volume 3, Study Session 10, Reading 31, LOSd

Income tax expense = Income tax payable + chamgésferred tax asset and
liability

Income tax expense = ($147,400 x 0.25) + $2,5089:350
Which of the following isnost likely an example of a positive covenant?

A. The company must maintain a minimum interest cayeeratio of 2.0
times.

B. Lender consent must be sought prior to undertakimgfactory expansion
projects.

C. Dividends can only be paid if the company generategnimum net profit
margin of 25%.

Correct Answer: A

Reference:
CFA Leve |, Volume 3, Study Session 9, Reading 32, LOSd

The requirement to maintain a specified interesecage ratio is an example of a
positive covenant; this is because it requiretimapany to take certain actions.

Acquiring lender consent prior to undertaking fagtexpansion is an example of
a negative covenant; this is because it restingsompany’s ability to take
certain actions. Similarly a covenant restrictihng payment of dividends is
negative in nature due to its restrictive nature.
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An upward revaluation of a long-lived assdtesited in the same way as:

A. a downward revaluation
B. the reversal of a revaluation decrease.
C. the amount in excess of the revaluation reversalusmm

Correct Answer: C

Reference:
CFA Level I, Volume 3, Study Session 9, Reading 30, LOSg

An upward revaluation is treated the same as trmuamn excess of the
revaluation reversal amount. The excess will bendexd directly to equity and
not in the income statement.

Which of the following features iost likely a general requirement highlighted
by the Conceptual Framework with respect to thegmaion of financial
statements according to IFRS?

A. Fair value
B. Timeliness
C. Consistency

Correct Answer: C

Reference:
CFA Level |, Volume 3, Study Session 7, Reading 24, LOSe

According to the features laid out in the Concepramework by IAS 1, the
presentation and classification of financial sta#ate must be retained from one
period to the next; that is, financial statemehtsutd be consistent.

Fair value is a basis of measurement while timshris one of the characteristics

laid out by the Conceptual Framework, which enhanbe usefulness of relevant
and faithfully represented financial information.
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In 2010, Horizon Inc. sold real estate propemyth $150,000 to Homestead
receiving a down payment of $15,000. The remaioéiéne sales price is to be
paid over an eight year period. Horizon Inc. pusgththe property in the year
2000 when the original cost was $130,000.

Under the cost recovery method, the profit to lmegaized by Horizon Inc. in the
year 2010 islosest to:

A. $0.
B. $15,000.
C. $20,000.

Correct Answer: A

Reference:
CFA Level I, Volume 3, Study Session 7, Reading 25, LOSc

Since the cash received from the buyer is lessttiaseller’s cost of the property
in the year 2010, no profit will be recognized untihe cost recovery method.
Defensive interval ratios measure:

A. solvency.

B. a company’s creditworthiness.

C. how long a company can rely on cash reserves tapiy cash
expenditures.

Correct Answer: C

Reference:
CFA Leve [, Volume 3, Study Session 8, Reading 28, LOSb

Defensive interval ratios are an example of liqyidatios, which measure a
company’s ability to meet its short-term obligagsoDefensive interval ratios, in
particular, measure how long a company can pajeily cash expenditures using
only its liquid assets (which include cash reserweghout additional cash flow
coming in.
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In the year 2013, Time Corp. reports net incofm@&2.50 million and has 300,000
weighted average number of shares outstandindhedbéginning of the year the
company had 30,000 options with an exercise prfi&20. The company’s
market price averaged €30 per share over the fyszal

Time Corp’s diluted EPS based on the treasury steethod isclosest to:

A. 8.06.
B. 8.62.
C. 8.33.

Correct Answer: A

Reference:
CFA Leve |, Volume 3, Study Session 7, Reading 25, LOSg

The treasury stock method assumes that the contpaaives €600,000 (30,000
x €20) upon the exercise of the options. Usingeah@sceeds, the company can
repurchase 20,000 (600,000/€30) shares at thentum@rket price. Thus, the
incremental number of shares issued is 10,000 (80;10,000).

Diluted EPS = €2,500,000/(300,000 + 10,000) = 8.06

Which of the following statement®st accurately explains the treatment of costs
associated with internally developing intangibleeds? These costs are:

A. generally capitalized.
B. treated as investing cash outflows.
C. expensed under U.S. GAAP if they relate to reseanchdevelopment.

Correct Answer: C

Reference:
CFA Level |, Volume 3, Study Session 8, Reading 30, LOSb

Research and development costs, which classifpsts associated with
internally developing intangible assets, are expénsder U.S. GAAP.

The costs associated with internally developingngtble assets are generally
expensed as incurred and classified as operatstgaaflows.
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63. The exhibit below highlights selective balasbeet information for Rictor Corp.
for the financial year 2013.

Exhibit:

$ millions
Accounts payables 100
Current portion of long-term debt 65
Other current liabilities 90
Long-term debt 160
Common stock 650
Retained earnings 95

The debt to equity ratio idosest to:
A. 0.30.
B. 0.35.
C. 0.56.

Correct Answer: A

Reference:
CFA Levd I, Volume 3, Study Session 8, Reading 26, LOSi

All' $ figures are in millions.

Debt to equity ratio = ($65 + $160)/($650 + $95).30
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64. The exhibit below illustrates selective finaenformation for Mono Capital
between the financial years 2012 and 2013. Moreperted net income of

$280,000 in the year 2013.

Exhibit
$ Millions 2013 2012
Accounts receivable 25 30
Inventory 35 29
Prepaid expenses 12 8
Accounts payable 30 22
Taxes payable 8 6
Depreciation 16 12
Dividends paid 6 4

The total adjustment required to determine cash ftom operations from net
income can be determined by adding:

A. $5 million.
B. $21 million.
C. $25 million.

Correct Answer: B

Reference:

CFA Level I, Volume 3, Study Session 8, Reading 27, LOSf

All' $ figures are in millions.

Adjustment required = ($30 — $25) + ($29 — $35%8 { $12) + ($30 — $22) +

($8 — $6) + $16

Total adjustment required = Add $21
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65. Bonds issued at a premium:

A. have a carrying value which declines over the termaturity.

B. have a reported interest expense which is higtzar ithterest payments.

C. should be amortized using the straight-line metivbath better reflects
the economic substance of the transaction.

Correct Answer: A

Reference:
CFA Level I, Volume 3, Study Session 9, Reading 32, LOSb

Bonds issued at a premium have an initial carrgimgunt greater than the face
value. As the premium is amortized, the carryingpam declines to face value.
Bonds issued at a premium have a coupon rate, vidnigigher than the market
rate in effect at the time of issuance; the latiée being used to calculate interest
expense. Therefore, interest expense is lowerttlamterest payments required
on these bonds.

In general, the effective interest rate methodéseured for amortizing premiums
and discounts as it better reflects the econonbstance of a transaction relative
to the straight-line method.

66. On January 1, 2013, the carrying amount ofntwg on Alliance Manufacturers’
balance sheet is $128,750. Donna Wells, the comganycurement manager,
assesses that net realizable value is $119,352 éimte. On December 31, 2013
Wells makes a reassessment and finds that netabbdivalue has increased to
$130,450. Alliance Manufacturers prepares and ptests financial statements
in accordance with IFRS.

The subsequent increase in net realizable valuawst likely:
A. increase gross profit by $9,398.
B. increase gross profit by $11,098.
C. not be accounted for as reversals of inventoryeadwns are not

permitted.

Correct Answer: A
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Reference:
CFA Level |, Volume 3, Study Session 9, Reading 29, LOSf

IFRS permit the reversal of inventory write-dowH®wever, the reversal is
limited to amount of the original write-down thatequal to $9,398 ($128,750 —
$119,352). A subsequent increase in inventory vafu#l 1,098 ($130,450 —
$119,352) exceeds the amount of the original widem; thus a reversal
amounting to $9,398 will be reflected as a redurctiocost of sales (or increase in
gross profit).

An auditor who concludes that a company’s fai@rstatements are not fairly
presented wilmost likely issue a (n):

A. adverse opinion.
B. qualified opinion.
C. unqualified opinion.

Correct Answer: A

Reference:
CFA Leve |, Volume 3, Study Session 7, Reading 22, LOSd

An adverse opinion is issued when an auditor beievcompany’s financial
statements are not fairly presented.

A qualified opinion is issued when an auditor bed®there is a scope limitation
or exception to accounting standards.

An unqualified opinion states that financial stagens “give a true and fair view”
or are “fairly presented”.
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68. Debra Toe, CFA, is an independent financialyshavho is evaluating the
financial reporting quality of Summit Lark. Based preliminary analysis, Toe
suspects Lark’s financial statements are lackinghencial quality. She has
collected relevant financial information for theafysis (Exhibit).

Exhibit:
Relevant Financial Information Concerning
Summit Lark (Financial Years 2012 to 2013)

$ Millions 2013 2012
Revenue 45 39
Net income 27 21
Operating cash flows 65 72
Inventory 10 14
Total assets 80 65

Which of the following conclusions isost probable based on the information
presented?

A. Lark’s efficiency is declining.

B. Lark may find it difficult to raise new equity caai.

C. The decline in inventory is higher than the inceessales indicating that
revenues are reported aggressively.

Correct Answer: A

Reference:
CFA Leve [, Volume 3, Study Session 9, Reading 28, LOSc

The increase in total assets of 23.08% [($80/$&px-100] is greater than the
increase in revenues of 15.38% [($45/$39 - 1) ¥.I1DMis indicates that the
Lark’s efficiency is declining as the assets aregamerating as much revenues.

The impact of a change in Lark’s ability to raisawequity capital cannot be
determined based on the limited information presgnt

The decline in inventory of 28.6% [($10/$14 — 1)00] is higher than the
increase in revenues of 15.38% [($45/$39 — 1) ¥.I0tis could indicate that the
company has written-down a portion of its inventasythe decline in inventory is
not translating into the same level of sales growitternatively this may indicate
conservative reporting of revenues.
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Questions 69 through 76 relate to Corporate Finance

69.

70.

Smithline Corp.’s total market value of equetyuals $45 million while the
market value of debt equals $30 million. The ret#\tax rate for the corporation
is 30% while the equity beta is 1.893.

Smithline Corp’s unlevered betadwsest to:
A. 1.29.
B. 1.89.
C. 2.78.

Correct Answer: A

Reference:
CFA Level I, Volume 4, Study Session 11, Reading 36, LOSi

Unlevered beta is also known as the asset beta.

1 ~ 189 1 =1.29070r 1.29

B = Boaiy w 1+((1‘ 03)52)

Line Corporation will be investing €100 milliama new research facility. The
facility is expected to generate cash flows of #8ion per year for the next
eight years. The company’s weighted average costal is 7.5%. Line has 5
million shares outstanding each of which has aetuinmarket price of €26.50.
The company’s earnings yield is 8.00%.

The impact of the investment on Line’s stock premost likely:
A. adecrease of €1.77.
B. anincrease of €15.14.
C. anincrease of €41.64.

Correct Answer: B

Reference:
CFA Level I, Volume 4, Study Session 11, Reading 35, LOSf
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Based on the cash flow and discount rate data gedyithe NPV of the project is
€75.7191 million.

The market value of the company prior to undertgkire project is €132.50
million (5 x €26.50) while by undertaking the prcj¢he value of the company
should increase by €75.7191 to €208.2191 million.

The price per share will increase by an amountlequae NPV per share
€75.7191 million/5 million = €15.1438.

A company that operates with a high proportibfixed costs in its cost structure
is said to have a high level of:

A. sales risk.
B. financial risk.
C. business risk.

Correct Answer: C

Reference:
CFA Leve I, Volume 4, Study Session 11, Reading 37, LOS a

Business risk is the risk associated with operatiggings. Operating earnings
may be risky because the cost of producing reveisugsky as are total revenues.
Therefore, business risk comprises of sales anchtipg risk. Operating risk is
the risk attributed to a company’s operating striceet The greater the fixed
component of costs, the greater the operating risk.

Sales risk is the risk associated with the pria# @mantity of goods and services.
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The HR Fund is seeking to include a short-testrument in its investment
portfolio. The fund’s chief investment officer hidentified an instrument with
the following characteristics:

* low degree of liquidity risk;
* insignificant credit risk; and
* interest bearing with attractive yields.

The instrument identified isost likely a:

A. U.S. Treasury bill.
B. commercial paper.
C. federal agency security.

Correct Answer: C

Reference:
CFA Level I, Volume 4, Study Session 11, Reading 39, LOSg

The identified instrument is a federal agency seéguwhich typically carries low
liquidity risk and has insignificant credit riskh&se securities offer yields higher
than U.S. Treasuries making them an attractive foirmvestment.

Traded U.S. Treasury bills have low rates. In addjtthey entail virtually no
risk.

Stole Limited is selling 300,000 units at aprof $40/unit. Total fixed and
variable costs are $8.5 million and $6.6 milliospectively. The company’s total
financial costs are equal to $2.5 million.

The level of sales units at the operating break@aent and breakeven point,
respectively, is:

A. 366,667 and 505,556.
B. 472,222 and 611,111.
C. 611,111 and 611,111.

Correct Answer: B
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Reference:
CFA Level I, Volume 4, Study Session 11, Reading 37, LOSd & e

$8,500,000
$6,600,000
40= 350,000

. F+C ,500, ,500, ;
Breakeven point (&) = Ptv =% ng"(26+6f§00?)‘)’ = 611,111 units

300,000

Operating breakeven ¢@k) :5 = = 472,222 units

The length of a company’s operating cycle hassiased in the current year.
Which of the following statementsost accurately justifies the reason for this
increase?

A. The company'’s inventory balance has decreased.

B. The company is taking advantage of early paymesttodints.

C. The average number of days to collect payments tnestomers has
increased.

Correct Answer: C

Reference:
CFA Leve |, Volume 4, Study Session 11, Reading 39, LOSc

Operating cycle = Number of days of receivablesimber of days in inventory

An increase in the number of days to collect act®tgreivables signals an
increase in the number of days of receivables.

The number of days of inventory is measured asnitorg divided by average
day’s cost of goods sold. A lower inventory balasgmals a lower measure and

a decline in the cash operating cycle.

The number of days of payables does not featutigeiicalculation of operating
cycle.
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Maritime Inc., a component manufacturer, hasanced a repurchase of 800,000
shares at the prevailing market price of $10. Ntagthas 3 million ordinary
shares outstanding at the time of repurchase. dimpany’s reported assets and
liabilities are $40.0 million and $20.5 million,s@ectively.

How will the share repurchase affect Maritime’s beoalue per share? The book
value per share will:

A. increase by 9.1%.
B. decrease by 19.6%.
C. decrease by 61.7%.

Correct Answer: B

Reference:
CFA Level |, Volume 4, Study Session 11, Reading 38, LOSe

Pre-buyback book value per share = ($40.0 milli&26.5 million)/3 million =
$6.5

The buyback will reduce book value of equity byrlion (800,000 x $10) to
$11.50 million ($19.5 million — $8.0 million) ande number of shares
outstanding by 0.80 million to 2.20 million.

Thus, book value per share will decrease to $5(827.50 million/2.20 million)
or by 19.6% ($5.227/$6.50 — 1).

Which of the following shareowner policiesnest consistent with good
corporate governance practices?

A. Investors are given three days to cast their wageproxies.

B. A company transfers all voting records to a thiadty agent.

C. In a company with dual classes of shares, a mgjofithe voting rights is
owned by one class of shareowners.

Correct Answer: B

Reference:
CFA Leve I, Volume 4, Study Session 11, Reading 40, Pages 222-224, LOSg
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Using a third party agent to retain voting recasdsonsistent with the corporate
governance codes of best practice.

Giving shareowners only three days to cast vot@proxies is not sufficient
time; this makes it difficult for shareowners taedheir common shares.

Giving the voting rights to one class of shareownenen a company has dual

classes may create a situation in which the manageand board
disproportionately focus on the interests of thels@&reowners.
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Questions 77 through 88 relate to Equity Investmeist

77. Green Associates does not currently pay dividdmut is expected to do so in
three years’ time when the dividend per share jeted to $6.50 and will grow
at a perpetual rate of 3% thereon. Green Assosiadguired rate of return is
10%.

The intrinsic value of Green Associate’s stockl osest to:
A. $71.86.
B. $76.74.
C. $95.64.

Correct Answer: B

Reference:
CFA Level 1, Volume 4, Study Session 14, Reading 50, LOSe

The dividend payment streams will need to be st two segments with the
second representing the time period when dividesidspare is perpetual.
Using the Gordon growth model, the present valu@dividend payment
stream at t = O is determined as follows:

V3 =[Do (1 + g)])/(r— g) = ($6.50)(1.03)/(0.10 — 0.03) 85$6429

Vo= $95.6429/(1 + 0.168)= $71.86

The first segment is represents the present vdltlee®6.50 dividend not
considered in the calculation:

$6.50/(1.10) = $4.88
Intrinsic value = $71.86 + $4.88 = $76.74
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Joyce Inc., a Japanese automaker, is seekoftetdts shares in overseas
markets. The management proposed to consider emmietliary to issue shares in
foreign markets using a global sponsored deposrengipt (DR).

The chosen method will:
A. expose overseas investors to considerable foreigmaage risk.
B. not allow Joyce Inc. to participate in the issuaotdepository receipts.
C. grant participating investors the same voting sgid the direct owners of
the common shares.

Correct Answer: C

Reference:
CFA Leve 1, Volume 4, Study Session 14, Reading 48, LOSd

A sponsored DR will allow participating investocshave the same rights as the
direct owners of the common shares. In additioa ftineign company whose
shares are held by the depository institution hale a direct involvement in the

issuance of the receipts.

Participating investors will need to worry less abfmreign exchange risk as
price quotations and dividend payments are in tloeal currency.

A trader purchases a share of stock on matdia eurrent market price of $80.
The initial margin requirement is 30%.

The margin requirement for each share of stockosest to:
A. $24.
B. $56.
C. $80.

Correct Answer: A

Reference:
CFA Level 1, Volume 4, Study Session 13, Reading 45, LOSf
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If the market price declines, the trader will ineuloss on the position. To prevent
this from occurring, the trader should retain aimim amount as equity in its
position as margin.

Margin requirement = 30% x $80 = $24.

Gene Saunders has purchased a stock usindg $i#b fonds and $30 of borrowed
funds. One month after making the investment, tbeksfalls by 15% in value.
Her financing mix meets minimum margin requirements

The initial margin and unannualized return on inwesnt, before considering the
payment of fees and commissionsglssest to:

A. 33.3% and — 22.5% respectively.
B. 33.3% and — 45.0% respectively.
C. 50.0% and — 15.0% respectively.

Correct Answer: B

Reference:
CFA Level 1, Volume 4, Study Session 13, Reading 45, LOSf

The use of leverage magnifies the gain/loss omaestment.
Percentage equity or initial margin = $15 + ($3916) = 0.3333
Leverage = 100% position + (33.33% equity) = 3.0

Return on investment = 3.0 x (- 15%) = - 45%

Which of the following featurewost likely distinguishes common and preference
shares?

A. Voting rights
B. Perpetual maturity dates
C. Presence of embedded options

Correct Answer: A

Reference:
CFA Leve 1, Volume 4, Study Session 14, Reading 48, LOSb
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Preference shareholders usually do not have votghgs while common
shareholders do. On the other hand, similar to comsiares, preference shares
can have perpetual maturity dates and contain eddakdptions, call or put
options.

Which of the following industries Isast likely cyclical in nature?

A. Autos
B. Utilities
C. Technology

Correct Answer: B

Reference:
CFA Leve 1, Volume 4, Study Session 14, Reading 49, LOSb

A cyclical industry’s profitability is strongly coelated with the strength of the
overall economy. Cyclical products and servicesoften relatively expensive
and/or their purchase can be delayed if neces€aulical industries include
autos and technology.

A noncyclical industry’s performance is independeainthe business cycle. Non-
cyclical companies produce goods and servicesmittively stable demand.
Examples include utilities.

For one of her equity investments, investoroClllarch has specified a GTC,
stop 120, limit 95 sell order. The original purchgsice of her investment was
$150. If the price of the stock declines below $1¥arch’s GTC order wilmost
likely:

A. not be executed.
B. be executed and her maximum loss will be $25.
C. be executed and her maximum loss will be $55.

Correct Answer: C

Reference:
CFA Leve 1, Volume 4, Study Session 13, Reading 45, LOSg
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A GTC, stop 120, limit 95 sell order will be exeedtonce the limit price falls
below $120 to limit any potential losses on thel¢rarhe stop limit sell order will
limit the fall in price to $95. Thus, potential &&s are limited to $55 ($150 —
$95).

Which of the following reasomeast likely justifies why companies operating in
an industry with high barriers to entry have lowcjprg power?

A. They are relatively new and lack a good track récor
B. Barriers to exit are high making overcapacity hygikely.
C. Price is a large component of a buyer’s purchastsida.

Correct Answer: A

Reference:
CFA Level 1, Volume 4, Study Session 14, Reading 49, LOSg

Being new to an industry with low barriers to erdiges not automatically
guarantee success. Therefore, this supports théh&tdow barriers to entry
should not be equated with low barriers to sucessspposed companies
operating in an industry with high barriers to grtaving low pricing power.

When barriers to exit are high, companies may edlile to exit the industry
without incurring significant capital costs by redteying capital, for example.
Therefore, these companies may continue to op#raieloss-making plants
prolonging conditions of overcapacity.

When price is a large component of the purchasiside¢c companies will have a
limited ability to influence price at a level nesasy to generate healthy profits.

FinQuiz.com © 2015 - All rights reserved. 60



85.

86.

CFA Level | Mock Exam 5 — Solutions (PM)

Jones Davenport submits a sell order for 12raots with a limit price of $25.7.
The market’s limit order book immediately priorD@avenport’'s order is as
follows:

Buyer Bid size | Limit Price | Offer | Seller
(€) Size

Martin 4 25.6

Smith 2 25.7

Peterson| 7 25.8
25.9 6 Hill
26.0 8 Ali
26.1 10 Khan

Davenport’s average trade priceciesest to:

A. €25.73.
B. €25.78.
C. €25.95.

Correct Answer: B

Reference:
CFA Level 1, Volume 4, Study Session 13, Reading 45, LOSI

Daveport’s order will be first executed at the maggressively priced buy order;
that is, 7 contracts will be sold to Peterson pitiee of €25.8. Davenport has five
contracts remaining and two of these contractshelsold to Smith at the next
most aggressively priced sell order; the limit preill be €25.7. Davenport has
three contracts remaining but these will not be soIMartin as the price is lower
than the trader’s limit price.

Average trade price = [(7 x €25.8) + (2 x €25.71/825.78

The Gordon growth model cannot be used to estimtrinsic value if the
associated company:

A. is rapidly growing.

B. assumes a perpetual dividend growth rate.
C. retains a portion of its profits for reinvestmentposes.
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Correct Answer: A

Reference:
CFA Level 1, Volume 4, Study Session 14, Reading 50, LOSe & f

The Gordon growth model assumes that the divideodtt rate is perpetual and
never changes; therefore, the model cannot beitiaesbmpany is rapidly
growing; i.e. does not have a stable dividend gnawate.The Gordon growth
model can be applied if the company retains a o its profits for
reinvestment as long as this amount is kept cohatahdoes not result in
fluctuating dividend payments.

The exhibit below summarizes information conoeg a market-capitalization
weighted index:

Stock | Beginning of period Dividends | End of period Shares
price per share | per share| price per share outstanding
(%) (%) (%)
A 120 50 140 45,570
B 200 25 250 59,650
C 180 30 160 112,740
Total 217,960

The price return on the market-capitalization weghindex isclosest to:
A. 4.08%.
B. 4.35%.
C. 6.49%.

Correct Answer: B

Reference:
CFA Level 1, Volume 4, Study Session 13, Reading 46, LOSDb
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Price return = (End of period value — beginningefiod value)/beginning of
period value

Beginning of period value = ($120 x 45,570) + ($2089,650) + ($180 x
112,740) = $37,691,600

End of period value = ($140 x 45,570) + ($250 *659) + ($160 x 112,740) =
$39,330,700

Price return = ($39,330,700 — $37,691,600)/$37 &%~ 4.35%

Greenex Inc.’s option-free perpetual prefestedk is currently selling in the
market for $945.63. The annual dividend rate istgdi@at 5.5% and the par value
of the stock is $1,000. If the stock is fairly vedly the required rate of return
should beclosest to:

A. 5.20%.

B. 5.50%.

C. 5.82%.
Correct Answer: C

Reference:
CFA Leve 1, Volume 4, Study Session 14, Reading 50, LOSd

If the stock is fairly valued, the intrinsic valabould equal to the current market
price of $945.63.

Intrinsic value = Annual dividend/r
r = $55/$945.63 = 5.82%

FinQuiz.com © 2015 - All rights reserved. 63



CFA Level | Mock Exam 5 — Solutions (PM)

Questions 89 through 94 relate to Derivative Investents

89.

90.

An investor who goes long an equity forwardtcact on a total return stock
index will be concerned about the management of:

A. price risk.
B. the uncertainty of dividends.
C. both price risk and uncertainty of dividends.

Correct Answer: C

Reference:
CFA Leve 1, Volume 6, Study Session 17, Reading 57, LOSc

The total return on the index and the forward axttpayoff is based on the
payment and reinvestment of dividends.

A long-term European put option will alwaysverth more than an otherwise
identical short-term put option if:

A. volatility is lower.
B. interest rates are lower.
C. interest rates are higher.

Correct Answer: B

Reference:
CFA Level 1, Volume 6, Study Session 17, Reading 58, LOSI

A long-term European put option will be worth ménan an otherwise identical
short-term put option if interest rates are lowad &olatility is higher. Since
European options can only be exercised on theiiraiqn date, a longer time to
expiration suggests that the option holder willchezwait longer to receive
money from the sale of the underlying. The lostiiest will be a disadvantage of
the additional time; lower interest rates will reduthis lost interest. Higher
volatility will increase the chances that the umglag price will move in favor of
the option holder.
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Call options are primarily purchased by investgho are:
A. bullish.
B. bearish.
C. risk-averse.

Correct Answer: A

Reference:
CFA Level 1, Volume 6, Study Session 17, Reading 59, LOS a

Call options have an unlimited upside profit pot&@rand losses are limited to the
premium paid. Call options are thus preferred lwgators who are bullish and
anticipate an increase in asset price. Furtherncatkoptions entice speculators.
An investor purchased a stock several montad@adghb85 currently selling for
$98. A call option selling for $7 has an exercisegof $101. If the price of
share at expiration is $107, the value of the cedeall position for the investor
is closest to:

A. $91

B. $100

C. $101

Correct Answer: C

Reference:
CFA Level 1, Volume 6, Study Session 17, Reading 59, LOSb

V=S —max(0, $- X) = 107 — max(0, 107 - 101) = 107 — 6 = 101
The maximum loss for the holder of protectiué position is equal to:
A. exercise price —option premium.
B. exercise price — underlying price + option premium.
C. cost of the underlying + option premium — exergsee.

Correct Answer: C

Reference:
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CFA Level 1, Volume 6, Study Session 17, Reading 59, LOSb

The maximum loss for the holder of protective posipon = cost of the
underlying + option premium — exercise price.

The minimum value of which of the followingtlee maximum of zero and the
underlying price minus the present value of the@se price?

A. European call
B. European put
C. Protective put

Correct Answer: A

Reference:
CFA Level 1, Volume 6, Study Session 17, Reading 58, LOSI

The minimum value of a European call is the maxinaireero and the
underlying price minus the present value of ther@ge price.
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Question 95 through 106 relate to Fixed Income In\&ments

95.

96.

Alpha and Beta, manufacturing entities, aratidal in all respects except for
industry cyclicality. Alpha operates in a cyclicgatiustry while Beta operates in a
non-cyclical industry. If both companies incredseirtleverage levels by 10%,
credit risk will be:

A. higher for Beta.
B. nearly identical.
C. higher for Alpha.

Correct Answer: C

Reference:
CFA Leve |, Volume 5, Study Session 16, Reading 56, LOSe

Credit risk will be higher for Alpha following amérease in leverage levels.
Industries that are cyclical have more volatileeraves, margins and cash flows
and are riskier than non-cyclical industries. Comes in cyclical industries
should carry lower level of debt relative to thainility to generate cash flows
over an economic cycle than companies in non-cgicliustries.

Green Associates owns a 3% semi-annual cougg@ng) 4-year bond issue with
a par value of $10,000 that is currently price@®783.14. The annualized yield
to maturity of the issue idosest to:

A. 3.31%.
B. 3.59%.
C. 6.63%.

Correct Answer: B

Reference:
CFA Level |, Volume 5, Study Session 15, Reading 53, LOSb

Using the IRR function on the financial calculatibre semi-annual yield is
1.7934% and the annualized yield to maturity i9365
1.50 N 1.50 - 1.50 +101.50_

. —_— _ °=0.017934
(1+r) (1+1) (1+r)" (1+r)

97.8314 =

FinQuiz.com © 2015 - All rights reserved. 67



CFA Level | Mock Exam 5 — Solutions (PM)

97. Rachel Lake is evaluating the potential fordprices to change given the market
discount rate. She derives the following conclusion

Conclusion 1: The convexity effect can be obselagthe tendency for bond
prices to increase when market discount rates dsere

Conclusion 2: For two bonds offering an identiaadigon rate, the maturity effect
results in the longer-term bond being more prigeséive than a
shorter-term bond when the change in market digoc@tes is
identical.

Lake ismost likely correct with respect to:

A. conclusion 1 only.
B. conclusion 2 only.
C. both the conclusions.

Correct Answer: B

Reference:
CFA Leve I, Volume 5, Study Session 15, Reading 53, LOSb

Lake is incorrect with respect to Conclusion 1 aadect with respect to
Conclusion 2. Conclusion 1 describes the inverfezefThe convexity effect is
described as the absolute percentage price chamgg dgreater when the market
discount rate goes down than when it goes up.

The maturity effect results in the longer-term bexgeriencing a greater
percentage price change than a shorter-term boed Wieir coupons are
identical and market discount rates change bydhssamount. This implies that
the longer-term bond is more price-sensitive.
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The exhibit below summarizes selective findnaif@rmation concerning a textile
manufacturer for the year 2013.

Exhibit:

$'000
Net income from continuing operations 450
Depreciation and amortization 18
Capital expenditures 7
Increase in non-cash working capital 70
Gains from sale of long-lived assets 12
Total debt 500

The manufacturer’'s FFO/total debftlgsest to:

A. 0.758.
B. 0.772.
C. 0.912.

Correct Answer: C

Reference:
CFA Level I, Volume 5, Study Session 16, Reading 56, LOSf

All' $ figures are in thousands

FFO = Net income from continuing operations + dejatoon and amortization +
non-cash items + deferred income taxes

FFO = $450 + $18 — $12 = $456

FFO/total debt = $456/$500 = 0.912

Bonds that are issued by the government arkkbdary tax revenues aleast
likely known as:

A. sovereign bonds.
B. non-sovereign bonds.

C. quassi-government bonds.

Correct Answer: C
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Reference
CFA Level |, Volume 5, Study Session 15, Reading 52, LOSe

Because quassi government entities do not havetd@eing authority, bonds are
repaid from cash flows generated from the projgcth{e bond issue is financing.
Non-sovereign bonds are financed by revenues ¢tetldry the taxing authority
along with other sources.

Highly-rated sovereign bonds are backed by thentpauthority of the
government with excess revenues over expendituieg lused for making
interest payments and repaying principal.

100. Lance Gibbons holds two fixed income secwjtiecorporate bond and a zero-
coupon bond. Details concerning his investmentari®llows:

* The zero-coupon bond matures in twelve years atrddeng at a market
discount rate of 5%.

* The corporate bond offers an annual coupon raB886, matures in ten
years and is trading at a market discount rate2%o4

Which of the following statement isost likely correct regarding his investments?
A. Both bonds are selling at the same price.
B. The corporate bond is trading at a lower price.
C. The zero coupon bond is trading at a discount df&2

Correct Answer: C

Reference:
CFA Leve |, Volume 5, Study Session 15, Reading 53, LOSb

Based on the calculations below, the zero-coupa mtrading at a discount of

$44.32 while the corporate bond is trading at atiedly higher price ($96.788 vs.
$55.6837 respectively).
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A limitation of using the current yield toaduate a fixed income security is that
the measure ignores:

A. weekends and holidays.
B. the flat price of an issue.
C. time value of coupon payments.

Correct Answer: C

Reference:
CFA Level I, Volume 5, Study Session 15, Reading 53, LOSf

The current yield does not consider the frequerigagments over the life of the
issue nor does it consider the time value of coygmments (i.e. payments
received after an year).

The current yield is calculated as the sum of thgon payments received over
the year divided by the flat price.

The street convention yield-to-maturity is knowrignore weekends and
holidays.

A 150-day money market instrument has an adidi® of 6.50%. Assuming
there are 360 days in a year, the bond equivalelt gf the instrument islosest
to:

A. 6.50%.

B. 6.59%.

C. 6.77%.

Correct Answer: B

Reference:
CFA Level I, Volume 5, Study Session 15, Reading 53, LOSf
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First, the redemption amount per 100 of the prialkip determined.

FV =100+ (1OOX%X 0065} =1027083

The bond-equivalent yield is the AOR quoted on 5-88y basis.

365) x (1027083‘100j = 0.0659020r 6.59%
150 100

AOR=(

James Cunningham is evaluating the factotsriflaence issue ratings. He has
identified and described two factors which he haarsarized below:

Factor 1: The higher the senior unsecured rankirglower the notching
adjustment will be.

Factor 2: In the case of structural subordinateht of the parent holding
company is serviced before that of operating sudnses.

Cunningham isnost likely correct with respect to:

A. factor 1 only.
B. factor 2 only.
C. both of the factors.

Correct Answer: A

Reference:
CFA Level |, Volume 5, Study Session 16, Reading 56, LOSc

Cunningham is correct with respect to factor libabrrect with respect to factor
2.

The notching adjustment decreases in magnitudesecured debt increases in
seniority. This is because the perceived risk ddalé decreases with higher
credit ratings and so the need to notch to capha@otential difference in loss
severity is reduced.

In the case of structural subordination, debt ataperating subsidiaries will get

serviced by the cash flows and assets of the siabigis before funds can be
passed to the holding company to service debtatekel.
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104. Richard Grove invests in a 2-year, 4% semizahooupon paying bond with a

105.

par value of 1,000. The sequence of spot rates fisllaws:

Time-to-maturity Spot Rate
0.5 year 1.0%
1.0 year 1.8%
1.5 years 2.9%
2.0 years 4.2%
2.5 years 5.6%

The price of the bond idosest to:

A. $996.48.
B. $1,058.28.
C. $1,009.57.

Correct Answer: B

Reference:
CFA Level |, Volume 5, Study Session 15, Reading 53, LOSc

Price of the bond =
20 N 20 + 20 + 1020
1005 (1+ 0009)° (1+0.0145° (1+ 0021)*

= 105828000r 1,058.28

Which of the following iseast likely an example of an internal credit
enhancement?

A. Claim priorities to the underlying assets are rahke
B. Posting more collateral than is required to setinecing.
C. Providing a credit line to reimburse cash flow sfatls backing the issue.

Correct Answer: C

Reference:
CFA Level I, Volume 5, Study Session 15, Reading 51, LOSd
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External credit enhancements include letter of itsedhereby a financial
institution provides the issuer with a credit lioereimburse any cash flow
shortfalls from the assets backing the issue.

Internal credit enhancements include overcollaiteatbn, posting more collateral
than is needed to obtain or secure financing, disasehe ordering of claim
priorities for ownership or interest in an asset.

The government of llaka, a developing couritag issued 30-year capital
indexed bonds linked to the domestic consumer pnidex (CPI) in local
currency IA. The bonds have a par value of IA 1,008 bonds make semi-
annual coupon payments at a rate of 6%. Over thst reoent six months the CPI
has increased by 4%.

If the bonds were interest-indexed bonds as oppisedpital-indexed bonds,
semi-annual coupon would have been:

A. the same.
B. lower by $1.20.
C. higher by $2.40.

Correct Answer: A

Reference:
CFA Level |, Volume 5, Study Session 15, Reading 51, LOSe

As capital-indexed bonds, the annual coupon rateis the same but the
principal amount will increase to reflect inflatidfollowing the 4% increase in
inflation, the new principal amount will be 1A 1,04IA 1,000 x 1.04) and the
semi-annual coupon payment is 1A 31.20 (1A 1,04D03).

If the bonds are interest-indexed bonds, the gsal@amount will remain the same
but coupon payments will be adjusted to refledairdn. The new semi-annual
coupon payment would thus be 1A 31.20 (IA 1,000.641x 0.03); i.e. the two
coupon payments will be identical.

FinQuiz.com © 2015 - All rights reserved. 74



CFA Level | Mock Exam 5 — Solutions (PM)

Questions 107 through 112 relate to Alternative Ingstments

107. Carlson Smith has invested in the FD hedge, fahich has $450 million under
management. The fund charges a 2% managementded ba the funds under
management at year end and a 20% incentive feenforeturns earned in excess
of a 6% hurdle rate. The FD fund appreciated by H0#tng the year. Smith’s
net-of-fees returns idosest to:

A. 7.44%.
B. 9.64%.
C. 9.76%.

Correct Answer: A

Reference:
CFA Level 1, Volume 6, Study Session 18, Reading 60, LOSf

(All $ calculations are in millions)

Fund value at year end = $450 x 1.10 = $495

Management fee = $495 x 0.02 = $9.90

Hurdle amount = $450 x 0.06 = $27

Incentive fee = ($495 — $450 — $9.90 — $27) x G:1.62

Smith’s net return = ($495 — $450 - $9.9 - $1.625(6= 0.0744 or 7.44%.
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108. Garcia Miguel is comparing the valuation thpegate equity companies for
investment using the discounted cash flow appro@hk.has collected cash flow
data for the three companies (Exhibit) and wowdd to invest in the one with
highest valuation.

Exhibit:
Cash Flow Forecast Data Concerning Companies A, Bid C
Free Cash Flows| Cost of
Company to Equity* equity
A $40,000 5%
B $155,000 12%
C $88,100 6%

*All cash flow forecasts are perpetual

Miguel shouldmost likely invest in Company:

o>
O m >

Correct Answer: C

Reference:
CFA Level 1, Volume 6, Study Session 18, Reading 60, LOSd

Based on the discounted cash flow approach, Com@adms the highest
valuation.

Company A = $40,000/0.05 = $800,000
Company B = $155,000/0.12 = $1,291,667
Company C = $88,100/0.06 = $1,468,333
109. A desirable characteristic of alternative stusents is:
A. liquidity.
B. transparency.

C. low correlation with traditional investments.

Correct Answer: C
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Reference:
CFA Level 1, Volume 6, Study Session 18, Reading 60, LOSc

A desirable characteristic of alternative investtaes that they provide portfolio
diversification. Low correlation with traditionatvestments results in a greater
diversification effect. On the other hand, altewmtnvestments are often illiquid
and lack transparency both of which are undesiratbtiutes.

Which of the following isnost likely to be considered an alternative investment
for an investor whose major concern is liquidity?

A. ETFs only.
B. ETFs and REITs only.
C. ETFs, REITs and publicly traded private equity feind

Correct Answer: C

Reference:
CFA Level 1, Volume 6, Study Session 18, Reading 60, LOSg

For the investors who seek liquidity, publicly teadsecurities such as shares of
ETFs and REITs and publicly traded private equity$ may serve as the means
for investing in alternative investments.

Which of the following relative value strategjin fixed income markets
incorporates trades between two corporate issudystareen different parts of an
issuer’ yield curve?

A. Multi-strategy

B. Fixed income general

C. Fixed income convertible arbitrage

Correct Answer: B

Reference:
CFA Level 1, Volume 6, Study Session 18, Reading 60, LOSb
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Fixed income general focus on relative value withim fixed income markets.
These strategies may incorporate trades betweendvporate issuers, between
corporate and government issuers, between diffgrams of the same issuer’s
capital structure or between different parts ofssuer’s yield curve.

A hedge fund with $120 million of initial insenent and 2-20 fee structure
earned 35% return at year end. Assuming manageeests based on assets
under management at year end and incentive fesddslated net of management
fee, the total fees earned by the fund asest to:

A. $10.32 million
B. $10.40 million
C. $11.68 million

Correct Answer: A

Reference:
CFA Level 1, Volume 6, Study Session 18, Reading 60, LOSf

Management Fees = $120 million x 2% = $2.4 million

Incentive Fees = ($162 — $120 — $2.4)million x 28%%7.92 million
Total Fees = $2.4 million + $7.92 million = $10.8&lion
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Questions 113 through 120 relate to Portfolio Managment

113. If the market is informationally efficient nkat, the price in the market is

114.

115.

A. a biased estimate of all future discounted cashdland active investment
management is suitable.

B. an unbiased estimate of all future discounted fasis and passive
investment management is suitable.

A. an unbiased estimate of all future discounted fasis and active
investment management is suitable.

Correct Answer: B

Reference:
CFA Leve 1, Volume 4, Study Session 12, Reading 41, LOSc

If the market is informationally efficient markee price in the market is an
unbiased estimate of all future discounted cashsland passive investment
management is suitable.
Feed back step assists in rebalancing thet'sligortfolio due to change in:
A. political system
B. market conditions.
C. circumstances of investment manager.

Correct Answer: C

Reference:
CFA Leve 1, Volume 4, Study Session 12, Reading 41, LOSb

Feedback step assists the portfolio manager iaetiag the portfolio due to
change in market conditions or the circumstancebetlient.

Which of the following isnost likely to be an objective for a foundation?
A. Maintain the fund’s nominal value

B. Reduce the volatility of spending needs
C. Generate liquidity to meet spending needs
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Correct Answer: C

Reference:
CFA Leve 1, Volume 4, Study Session 12, Reading 41, LOSb

Two objectives of foundations include:

* Maintaining the real capital value of the fund
» Generating income (liquidity) to fund the objecswef the institution

Sasha Gable is managing the portfolio of &iparfund, which is equally
invested in equities and real estate. The corogldietween the two securities is
0.10. Details concerning expected annual returdsséandard deviations are
summarized in the exhibit below:

Exhibit
Expected Annual | Expected Annual Standarnd
Return (%) Deviation (%)
Equities 15.5 5.7
Real estate 22.1 13.8

Holding all else constant, if Gable decides to@ase the weight of equities to
60% by selling real estate, the portfolio standdadiation will, in percentage,
terms:

A. increase by 3.38%.
B. decrease by 12.20%.
C. decrease by 14.44%.

Correct Answer: B
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Reference:
CFA Level 1, Volume 4, Study Session 12, Reading 42, LOSe

_ 2 __2 2 2
Jport - \/Wl g tw, o0, + zwjyvszZJlaz

The standard deviation of the current portfoli@.i596%

T =(0.57(0.057° +(0.5(0.138° +2(0.5)(0.5)(0.10) (0.057(0.139
=0.07596

The standard deviation of the new portfolio is G4%.

T s =1/(0-6)°(0.057 +(0.4)° (0.13§° +2(0.6)(0.4)(0.10)(0.057(0.139
=0.0678

The standard deviation of the portfolio will degedy 12.20% [(0.0678/0.0772)
-1].

Stock returns are usually negatively skewdis Statement implies that:
A. standard deviation will be overestimated.
B. there is a higher than normal possibility for exteereturns.
C. there is a high frequency of positive deviatiomsrfrthe mean.

Correct Answer: A

Reference:
CFA Leve 1, Volume 4, Study Session 12, Reading 42, LOSc

Negative skewness implies that there is a higlegjuiency of negative deviations
from the mean, which has the effect of overestingastandard deviation.

Kurtosis measures whether there is higher than alopnobabilities for extreme
returns.
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118. At the beginning of the year 2010 an invedaposited $25,000 in his investment
account. He generated an investment gain of $4J0€iig the same year which
resulted in an ending account balance of $29,002011, the investor withdrew
$12,000 from his account at year end. At the bagmof the year 2012, the
investor deposited a further $5,000. In 2013, mthr transactions were made
and the value of the investment account at theoétite year was $20,000.

The IRR of the investment accountissest to:
A. 3.44%.
B. 11.88%.
C. 20.11%.

Correct Answer: A

Reference:
CFA Level 1, Volume 4, Study Session 12, Reading 42, LOS a

The IRR is calculated by entering the following amts into the financial

calculator:
Cky=- 25,000
CF,=12,000
CF,=-5,000
CR; = 20,000
IRR = 3.44%

119. Which of the following statementd&st likely correct regarding investment
policy statement (IPS).

A. The IPS is a starting point of the portfolio marmagat process.

B. The clients’ objectives are specified in termsisk tolerance and return
requirements.

C. The unique circumstances section states any legabalatory
restrictions that constraint the investment ofpbetfolio. .

Correct Answer: C

Reference:
CFA Leve 1, Volume 4, Study Session 12, Reading 44, LOSb
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Both options A and B are correct. Option C is imeot. The five major IPS
constraints are:

* Liquidity

* Time horizons

» Tax concerns

* Legal & regulatory factors
* Unique circumstance

120. The exhibit below illustrates expected anmisitland beta data concerning three
textile manufacturers (A, B and C).

Exhibit
Textile Expected Annual
Manufacturer| Standard Deviation (%) Beta
A 25.5 1.8
B 31.8 0.6
C 194 1.2

Out of the three manufacturers, the highest tahlis equal to:
A. 0.065.
B. 0.101.
C. 0.318

Correct Answer: B

Reference:
CFA Leve 1, Volume 4, Study Session 12, Reading 43, LOSc

Total risk is equal to total variance. The manuieet with the highest total
variance is B and this variance is equal to 0.10131&
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